l\\\\i Hannay Reels’

The reel leader.

Hannay Reels, Inc. Phone 1-518-797-3791

553 State Route 143, Westerlo, NY 12193 Toll Free 1-877-GO-REELS (467-3357)
www.hannay.com Fax 1-800-REELING (733-5464)
Email: reels@hannay.com Intl Fax 1-518-797-3259

ISO 224
PARTS LIST

MODEL AVD-3

Y

540) @79 660 &7A) oe2) ) 653 o4

Hannay ISO Parts Lists are available at www.hannay.com H-0802-P Rev 3 10/23



PARTS LIST
ISO 224
Model AVD-3

When Ordering Parts
BE SURE TO SPECIFY COMPLETE MODEL NUMBER and SERIAL NUMBER OF REEL

USE PART NUMBER!

Item No. Description Part No. Quantity
03 Cam Lever Drag Brake Kit (see 1ISO-254 fOr Parts).........cocueeeriieeiiiieiiiieeiiee e 9947.0140 1
12A  AVD-3 Front Disc & Collar (15" Dia.), per A12A-00160 ........cccerruiiiiiiiieiiiesienie e 9949.0037 1
12B  AVD-3 Back Disc & Collar (15" Dia.), per A12A-00170 .......ccoeiieiiiiiieiie e 9949.0038 1
13 AVD-3 Drum (6" Dia.), per P13A-00040 ........ccciiiiiiiieiiiiiie ittt 9949.0021 1
19 AVD-3 Frame Assembly, per PTOA-00130 ......cccuiiiiiiiiiieeeiee e 9949.0015 1
25A  1/4"-20 x 8" Long Carriage Bolt w/ Nut (includes Iltem 27A).......cccooiiiieiiieiieeecee e 9949.0050 4
25B  5/16"-18 x 3/8" Long Allen Set Screw W/ NYIOCK ........cccouiiiiiiiieie e 9958.0007 2
25C  1/4"-20 x 1/2" Socket Head Cap SCreW.........cceiiiiuiiiiee ettt et aaaea e 9958.0058 11
27A  1/4"-20 Finish Hex Nut (BIaCK ZINC) .......coiviiiiiiie ettt 9958.0059 15
28A 1" Hub Spacer Washer - Plated (1-7/8" O.D. x 1-5/16" [.D. x 1/8" Thick)........cccceevrerverurnnne. 9954.0021 2
28B  SST Spacer (1-5/8" O.D. x 1" 1.D. X 20 GA. THiCK).....ceieiiiieiiieiie e 9954.0037 1
30 1" External Retaining RING ...coooiiiiie e e e 9951.0021 1
32 AVD-3 Hub, pPer P32A-007140 ........ooiiieiie ittt ettt 9949.0031 1
55A  5/16"-20 Shoulder Bolt, Washer & Nut (for Oval Knob).........ccccoceeeiiiiiiiieeeee e 9914.0531 1
55B  OVal KNOD HANAIE ... 9914.0565 1
56A  ENd Cap (CCF-7/8 14-20) .....iiiueeieeietieeeeete ettt ettt et 9958.0062 1
56B  AVD-3 Connector Enclosure Cover (15" O.D.), per P56A-00730........ccccciieriieiiniieinieeenne 9955.1003 1
56C  AV-1 Connector Enclosure, per P56A-00220 ...........ccoooiiiiieieeieiieie et ee et 9949.0061 1
56D  Black Gear Tie (12" LONG) ..ueeueeauiiatieiieaitieaiee et et e site et et e ate et e sse e et e sbeeebeesabeenbeeaneeeneeas 9949.0082 2
56E  Rubber Grommet for AVD=3 DIUM.......cccuoiiiiiieiiee et see e e 9949.0049 1

Optional Caster Kit

27B  3/8"-16 SPINIOCK NUL......oiiiiiiiiitii ittt ettt et b e snbeesbeesnne e 9904.6200 4

28C  EH-765 Special Spacer (1" x 5/16" W/ 3/8" HOIE) ........coiiuiiiiiiiiiiiieiieeee e 9954.0017 4

73 AVD-3 Caster Kit (includes ltems 73A, 73B, 27B, and 28C) ........ccceeoereeiinieeeeere e 9949.0073 1

4% N © B = T (- PP 9949.0068 2

451 = T © 1 B I o Te7 { g To 0= T Y SR 9949.0069 2
Optional Pull Handle Kit

56F AV Pull Handle Kit Complete, per ASBA-00340 ..........ccceiiiiiieiiieiie e 9949.0500 1

Hannay ISO Parts Lists are available at www.hannay.com H-0802-P Rev 3 6/24



